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A 20-foot ladder leans against a wall so that the base of the ladder is 7 ft. from the base of the   
building.  To find the angle, 𝐴, the ladder makes with the ground, which equation below can be 
used:  
             

A.   𝑠𝑖𝑛 𝐴 =
7

20
                  B.   𝑡𝑎𝑛 𝐴 =

20

7
                  C.   𝑡𝑎𝑛 𝐴 =

7

20
              

 

D.   𝑐𝑜𝑠 𝐴 =
7

20
                    E.   𝑠𝑖𝑛 𝐴 =

20

7
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
If a rectangular box has sides of length 𝑥, 𝑥 + 4, 𝑥 − 5 (𝑤ℎ𝑒𝑟𝑒 𝑥 > 5), the volume of the box is:  
             
A.   𝒙𝟑 − 𝒙𝟐 − 𝟐𝟎𝒙              B.   𝑥3 + 𝑥2 − 20𝑥               C.   𝑥3 − 𝑥2 − 20              
 
D.   𝑥3 − 20                         E.   𝑥3 − 𝑥 − 20 

 
Solution: 

                  

 
 
 
 

Each week, we’ll reveal the answer to the previous week’s question! 
 

Visit us at WWW.NCEMPT.ORG 
for additional resources or to register to test for FREE! 

 

𝑉 = 𝑙 ⋅ 𝑤 ⋅ ℎ 
𝑉 = (𝑥)(𝑥 − 5)(𝑥 + 4) 
𝑉 = 𝑥(𝑥2 − 𝑥 − 20) 
𝑉 = 𝑥3 − 𝑥2 − 20𝑥 
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